Here is the WRONG answer to this kind of question…
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NOTICE!  THE NUMBERING SWITCHED FROM CLOCKWISE (IN THE TOP-DOWN VIEW) TO COUNTER-CLOCKWISE (IN THE CHAIR CONFORMATIONS)

The following is the CORRECT answer:
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In both conformations, the numberings is CLOCKWISE!

Recognize:
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When drawing structures…
WRONG STRUCTURES!

WRONG connectivity:
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WRONG stereochemistry:
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The CORRECT STRUCTURE should look like:
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Wedges and dashes should
always be next to each other
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This bond should be
between the Carbon
and the Oxygen
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(CH3)3C

~———This bond should be
2 connected with the

H f CH3CH,  quaternary carbon.

This bond should

be attached to the CH,

then the CH;4
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